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38 | A emer | A% (mare =2 o3| B0 | Amn | 2 oA | ZHE | w oA | w 2
13 1 134,210 117,880 2,330 21,550 55,500 43,400 374,870 111,000 485,870
20 1 150,530 146,630 3,800 21,550 81,800 49,200 453,510 171,000 624,510
25 1 192,290 146,630 5,550 21,550 93,300 72,900 532,220 281,000 813,220
40 1 340,970 192,910 4,730 21,550 193,100 147,900 901,160 752,000 | 1,653,160
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1. EALFZE
(2l - 2)
zaE (A 2| H | H | znz | .
< phol 2 | mera| 2 o3| US 27l |~ A 2 3t o] 1
13 1 134,210 117,880 2,330 21,550 55,500 43,400 374,870 111,000 485,870
20 1 150,530 146,630 3,800 21,550 81,800 49,200 453,510 171,000 624,510
25 1 192,290 146,630 5,550 21,550 93,300 72,900| 532,220 281,000 813,220
40 1 340,970 192,910 4,730 21,5650 193,100 147,900 901,160| 752,000( 1,653,160
« & o 0. A7 ¥ ESE2 FUCUIZEsIH FACIHHIEAl HE &8t




(ete : 2
jf’m; i*ma)' saez | 0% |mmeg| = 3 | D2 e |2 oo (iiﬁ) s A |8 B
13 1 134,210 117,880 2,330 105,370 55,500 43,400 458,690 111,000 569,690
20 1 150,530 146,630 3,800 105,370 81,800 49,200 537,330 171,000 708,330
25 1 192,290 146,630 5,550| 105,370 93,300 72,9001 616,040 281,000 897,040
40 1 340,970 192,910 4,730 105,370 193,100 147,900 984,980| 752,000 1,736,980
WE D |0 A Y EsES PoektEsie TelEHHAAl WA &8t




HFE7

3= =
(mom) =gl M x| ApEd | B F Azl | &~ A (Ste2) 2 A
13 134,210 117,880 2,330 95,240 43,400 448,560 111,000 559,560
20 150,530 146,630 3,800 95,240 49,200 527,200 171,000 698,200
25 192,290 146,630 5,550 95,240 72,9001 605,910| 281,000 886,910
40 340,970 192,910 4,730 95,240 147,900 974,850 752,000( 1,726,850
* & i 0. A7 & ES &2 FUEIZSI Pl 4 =gt




4, B Xtz =8 727t

(2
ffmf i*ma)' saez | 0% |mmeg| = 3 | D2 e |2 oo (iiﬁ) S
13 1 134,210 117,880 2,330 39,110 55,500 43,400 392,430 111,000 503,430
20 1 150,530 146,630 3,800 39,110 81,800 49,200 471,070 171,000 642,070
25 1 192,290 146,630 5,550 39,110 93,300 72,900 549,780 281,000 830,780
40 1 340,970 192,910 4,730 39,110 193,100| 147,900 918,720 752,000| 1,670,720
WA 0D |0 AV Y EsES PoektEsie Tl lHAAl WA &8t




Nz ct = o L 2 AN 2 oy H]
E 4 Hl
% F 2 = 2 o = = 9 = F oA = o
D15mm P628
E=E0|2F D50x15 = | 37,100 37,100 0 0| 37,100 37,100 0
STSo| @Y= 20x15mm 74 4,200 4,200 0 0| 4,200 4,200 0
MPl = A7) 16mm | 1,362 1,362 0 0| 1,362 1,362 0
S e 50%13~20mm M| 49,152 49,152| 47,262 47,262 0 0 1,890
A~ A 91,814 47,262 42,662 1,890
U 2| 5,955 |81 = FH| X 12.6% = 5,955
7|Et ZAy| 7,574 |(M2H| + =2H|) X 7.9% = 7,574
ekmald] 6,321 (M 2H| + = FH| + HH|) X 6% = 6,321
stH E M| O|(MZEH| + Al + ¢&EHH]) X 0% = 0
ol & 10,350 | (‘=8| + ZH| + Letaa|d]) X 15% = 10,350
A 122,014
EII7bR| A 12,201
5t A 134,215 = 134,210




M2y = = oy L 2 Moo= oH| g Bl
E o Hl 2
X = o =l = A = = o = = A
1-2. 22dZ D20mm P628
MEZo| 24 D50x20 1.00] = | 48,500 48,500 0| 48,500 48,500 0
STSOo|dd = 20x20mm 1.00| 74 4,540 4,540 0| 4,540 4,540 0
MPEH = 220 20mm 1.00| 7H 2,350 2,350 0| 2,350 2,350 0 0
ReteHI 27 50%13~20mm 1704 49,152 49,152 | 47,262 47,262 0| 1,890 1,890
2~ A 104,542 47,262 55,390 1,890
2 e Ry 5,955| - = FH| X 12.6% = 5,955
7|et ZH| 8,580((MZH| + .. FH[) X 7.9% = 8,580
sl L] 7,145|(M 28| + =28 + ZH]) X 6% = 7,145
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol 7 10,625|(:= 8| + Zd| + LEb2|H]) X 15% = 10,625
A 136,846
BI17kx| M| 13,685
gt AH| 150,530 = 150,530




ME o 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = Z « =l = A = = o = o
1-3. 22AZ D25mm P628
MEZo| 24 D50x25 1.00| = | 65,600 65,600 0| 65,600 65,600 0
STSO|ZA 32x25mm 1.00| 7H 6,190 6,190 0| 6,190 6,190 0
MPEH = 220 25mm 1.00| 7H 3,770 3,770 0| 3,770 3,770 0 0
ReteHI 27 50%25~32mm 1|70 58,983 58,983 | 56,715 56,715 0| 2,268 2,268
2~ A 134,543 56,715 75,560 2,268
2 o 2| 7,146 | A H = FH| X 12.6% = 7,146
7|et ZH| 11,014 (M 28] + =RH[) X 7.9% = 11,014
sl L] 9,162|(MZH| + =FH| + AH[) X 6% = 9,162
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol 7 12,946 | (24| + Zd| + Ldbaa|d]) X 15% = 12,946
A 174,811
IR M| 17,481
&t AH| 192,292 = 192,290




ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
D40mm P628
MEZo| 24 D80x40 1.00| = | 122,600 122,600 0 [122,600| 122,600 0
STSOo|dd = 50x40mm 1.00| 7M 13,710 13,710 0| 13,710 13,710 0
EdSHE AT 40mm 1.00| 7H 24,220 24,220 0| 24,220 24,220 0 0
I 27 80+40~50mm 1|70z 83,559 83,559 | 80,346 80,346 0| 3,213 3,213
2~ A 244,089 80,346 160,530 3,213
FIb =1t 10,124 | B F = FH| X 12.6% = 10,124
7|et ZH| 19,829 (M EH| + =RH|) X 7.9% = 19,829
sl L] 16,442| (R 2H| + = FH| + ZH|) X 6% = 16,442
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol z 19,493 |(' 2| + ZH| + Hkata|d]) X 15% = 19,493
A 309,977
IR M| 30,998
gt AH| 340,974 = 340,970




ME = 5 o = 8 oy M= | 4 1l
E o = Hl 2
X = Z « =l = A = = o = = A
D50mm P628
EE0|24H D100x50 1.00| @ | 165,300/ 165,300 0 |165,300| 165,300
STSHU= 50mm 1.00 21,850 21,850 0| 21,850 21,850
Zolza A STS 50mm 1.00 17,360 17,360 0] 17,360 17,360
EYdsl=L 50mm 1.00 31,340 31,340 0| 31,340 31,340
CEHIE 80%40~50mm 1 88,474 88,474 | 85,072 85,072 0 3,402
2~ A 324,324 85,072 235,850 3,402
FdeSE ] 10,719| MY = RH| X 12.6% = 10,719
7|et ZH| 26,200 (M 2H| + =RH|) X 7.9% = 26,200
sl L] 21,675|(MEH| + =F4| + AH|) X 6% = 21,675
A 2 M| O|(MEH| + & + AEZH|) X 0% =
ol z 22,060 |(‘ 4| + AH| + LHhza|d]) X 15% = 22,060
A 404,977
BI17kx| M| 40,498
gt AH| 445 475 = 445,470




M2y = = oy L 2 Moo= oH| g Bl
= o el % H|
X = o =l = A = = o = = A
2-1. A7 ¥ 258 MR D13mm
2ESEMX| i 2 & 0.148] 2 | 173,600 25,692 {173,600 25,692
2SeF 0.148] ¢l | 125,427 18,563 | 125,427 18,563
AZ7| M| i 23 0.094| 2 | 173,600 16,318 [173,600 16,318
2soF 0.094| ¢l | 125,427 11,790 |125,427 11,790
A7 EHSE 800mm 1 EA| o
2~ A 72,363 72,363 0
FdeSE ] 9,118| M - FH| X 12.6% = 9,118
7|E} AH| 6,437 |(MEH| + = RH[) X 7.9% = 6,437
sl EI L] 5,275/ (M 28| + .= 28| + ZH]) X 6% = 5,275
2HE 2 M| O|(MBEH| + & + ALEZH|) X 0% = 0
ol 7 13,979| (= RH| + Zd| + Ldbaa|d]) X 15% = 13,979
A 107,172
IR M| 10,717
=) A 117,888 = 117,880




M2y = = oy L 2 Moo= oH| g Bl
= o el % H|
X = o =l = A = = o = = A
2-2. A7 ¥ 258 MR D20mm
BN i 2 & 0.188] @ | 173,600 32,636 {173,600 32,636
2SeF 0.188] ¢l | 125,427 23,580 |125,427 23,580
HZ7| 4| i 23 0.113| EA| 173,600 19,616 |173,600 19,616
2soF 0.113| EA| 125,427 14,173 |125,427 14,173
AL ESE 800mm 1| EA RS
2~ A 90,005 90,005 0
2 o 2| 11,341 [ A Y =Y X 12.6% = 11,341
7|et ZH| 8,006((MZH| + .. FH[) X 7.9% = 8,006
Ugkata|y| 6,561 |(M 24| + .. FH| + ZH|) X 6% = 6,561
2HE 2 M| O|(MBEH| + & + ALEZH|) X 0% = 0
ol 7 17,387 (= RH| + | + Ldbaa|d]) X 15% = 17,387
A 133,300
BI17kx| M| 13,330
=) A 146,630 146,630




M2y cl = OH L 2o AN =2 d 4 ]
= o el % H|
X = o =l = A = = o = = A
2-3. A7 ¥ 258 M% D25mm P981
BN i 2 & 0.188] @ | 173,600 32,636 {173,600 32,636
2SeF 0.188] ¢l | 125,427 23,580 |125,427 23,580
HZ7| 4| i 23 0.113] @ | 173,600 19,616 |173,600 19,616
2soF 0.113| ¢l | 125,427 14,173 |125,427 14,173
AL ESE 800mm 1| EA oA
2~ A 90,005 90,005 0 0
2 o 2| 11,341 [ A Y =Y X 12.6% = 11,341
7|et ZH| 8,006((MZH| + .. FH[) X 7.9% = 8,006
Ugkata|y| 6,561 |(M 24| + .. FH| + ZH|) X 6% = 6,561
2HE 2 M| O|(MBEH| + & + ALEZH|) X 0% = 0
ol 7 17,387 (= RH| + | + Ldbaa|d]) X 15% = 17,387
A 133,300
BI17kx| M| 13,330
=) A 146,630 = 146,630




=Y o 5 o = 8 oy M = od| 4 1l
= o el % H|
x5 = o =l = A = = o = = A
2-4. A7 Y E5 8 M D40mm P981
BN i 2 & 0.253| 2l | 173,600 43,920 (173,600 43,920
2SeF 0.253] ¢l | 125,427 31,733 |125,427 31,733
HE7| LA B 2t = 0.143| EA| 173,600 24,824 173,600 24,824
2soF 0.143| EA| 125,427 17,936 125,427 17,936
AL ESE 800mm 1| EA oA
2~ A 118,413 118,413 0 0
Ve I S| 14,920 A =FH| X 12.6% = 14,920
7|et ZH| 10,533 (M 2| + =RH|) X 7.9% = 10,533
Ugkata|y| 8,632|(M 24| + .. FH| + ZH|) X 6% = 8,632
B B | O|(RHZH| + 2 + MEZHH]) X 0% = 0
ol 7 22,875|('cFH| + ZH| + detaa[d]) X 15% = 22,875
A 175,373
IR M| 17,537
) A 192,910 = 192,910




=Y o 5 o = 8 oy M = od| 4 1l
= o el % H|
x5 = o =l = A = = o = = A
2-5. A7 & 25 & MXl D50mm P981
BN i 2 & 0.253| 2l | 173,600 43,920 (173,600 43,920
2SeF 0.253] ¢l | 125,427 31,733 |125,427 31,733
HE7| LA B 2t = 0.143| EA| 173,600 24,824 173,600 24,824
2soF 0.143| EA| 125,427 17,936 125,427 17,936
AL ESE 800mm 1| EA oA
2~ A 118,413 118,413 0 0
Ve I S| 14,920 A =FH| X 12.6% = 14,920
7|et ZH| 10,533 (M 2| + =RH|) X 7.9% = 10,533
Ugkata|y| 8,632|(M 24| + .. FH| + ZH|) X 6% = 8,632
B B | O|(RHZH| + 2 + MEZHH]) X 0% = 0
ol 7 22,875|('cFH| + ZH| + detaa[d]) X 15% = 22,875
A 175,373
IR M| 17,537
) A 192,910 = 192,910




ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
2AM (D16mm) m& P595
! i 2 & 0.0012| I | 173,600 208 173,600 208
2SeF 0.0013| 21 | 125,427 163 |125,427 163
Egtatol = H EHZ 1.00| m 1,350 1,350 0| 1,350 1,350
2~ A 1,721 371 1,350 0
FdeSE ] 47| A RH| X 12.6% = 47
7|E} AH| 140| (M 2| + =RH|) X 7.9% = 140
sl L] 114 (M 28| + ' 2H| + ZH]) X 6% = 114
B B | O|(MEH| + &A= + AEZH|) X 0% = 0
ol i3 101 [(=FH| + ZH| + utaie|d]) X 16% = 101
A 2,123
7RI A 212
=) A 2,334 = 2,330

20



ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
2AM (D20mm) m& P595
! i 2 & 0.0013] @I | 173,600 225 {173,600 225
2SeF 0.0015| 21 | 125,427 188 |125,427 188
Fatuol= H EHE 1.00| m 2,440 2,440 0| 2,440 2,440
2~ A 2,853 413 2,440 0
2 o 2| 52| B - RH| X 12.6% = 52
7|et ZH| 229|(MBH| + =RH|) X 7.9% = 229
Ugkata|y] 188 (M ZH| + =FH| + AH[) X 6% = 188
B B | O|(MEH| + &A= + AEZH|) X 0% = 0
ol i3 132|(l=RH| + ZH| + LHka|d]) X 15% = 132
A 3,455
SI7EA|A| 345
=) A 3,800 = 3,800

21



ME = 5 o = 8 oy M = od| 4 1l
E o Hl 2
X = o =l = A = = o = = A
2A (D25mm) m& P595
! i 2 & 0.0018| @I | 173,600 312 [173,600 312
2SeF 0.0022| 21 | 125,427 275 |125,427 275
sgolo|= H EHZ 1.00| m 3,590 3,590 0| 3,590 3,590
2~ A 4,177 587 3,590 0
2 o 2| 74| AFH - FH|l X 12.6% = 74
7|et ZH| 336|[(M2H| + =RH|) X 7.9% = 336
sl L] 275|(M 28| + = 28| + ZH]) X 6% = 275
2HE 2 M| O|(MEH| + & + ALEZH|) X 0% = 0
ol i3 191|(l=RH] + ZH| + LHka|d]) X 15% = 191
A 5,053
IR M| 505
gt AH| 5,558 = 5,550

22



=Y o 5 o = 8 oy M = od| 4 1l
= o el % H|
x5 | =t Z « =l = A = = o = = A
3-4. 2 25H (D40mm) me P595
! i 2 & 0.0030| ¢! | 173,600 520 173,600 520
HE2F 0.0037| ¢l | 125,427 464 125,427 464
PER PE 1.00| m 2,440 2,440 0| 2,440 2,440
2~ A 3,424 984 2,440 0
FdeSE ] 124 | A = FH| X 12.6% = 124
7|E} AH| 280| (M ZH| + = RH|) X 7.9% = 280
Ugkata|y] 230|(M 2| + =8| + ZH]) X 6% = 230
B B | O|(RHZH| + 2= + MEZH]) X 0% = 0
ol s 243 |(c 2P| + ZH| + LBha2|H]) X 156% = 243
A 4,301
IR M| 430
= A 4,730 = 4,730

24
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4-1. ES EAFZHEHID] & 57) 1mE

B m} 7| 212420%,7| 7 (0.2m')80% 0.720| mw’ 9,167 6,599 | 8,303 5,978 295 212 569 409
o7 ek 212410%,7|7(0.2m)90% 0.720| m 9,569 6,888 8,559 6,162 449 323 561 403
2~ A 13,487 12,140 535 812
M = 2| 1,530| M- - PH| X 12.6% = 1,530
7|et ZH| 1,122[(R 28| + =FH|) X 7.9% = 1,122
erata|d| 968|(M2H| + 4| + ZH|) X 6% = 968
i RS ] O|(MZH| + &= + MEZH|) X 0% = 0
ol z 2,486|(cFH| + | + LPA2|H|) X 15% = 2,486
Al 19,593
SR M| 1,959
&t AH| 21,552 = 21,550

25



IR = oH T 2oy Moo= 4 ]
E o =
X = o =l = A = = o = = A
EFZHHIZ|IZET) 1mE
Z3a|E ERAC 71A 2 2,990 5,980 | 2,241 4,482 709 1,418 40 80
ZI2|E ZEH7| 71 0.14 52,432 7,339 | 37,106 5,194 | 4,879 683 | 10,447 1,462
B 17| o12420%, 7| A (0.2m)80% 0.600 9,167 5,499 8,303 4,981 295 177 569 341 |g53
= e = oS 212410%,7|7(0.2m)90% 0.600 9,569 5,740 8,559 5,135 449 269 561 336 |¥=3
g Z3z2|= 0.700 29,849 20,893 | 25,509 17,856 | 1,843 1,290 | 2,497 1,747
2loj 2 25-21-08 0.140 79,000 11,060 0 0| 79,000 11,060 0 0
EES 40mm ol 5t 0.140 15,000 2,100 0 0| 15,000 2,100 0 0
H 7|22l H232E 0.322 24,000 7,728 0 0 0 0 | 24,000 7,728
H 7| 22| BT {58 0.322 15,226 4,902 0 0 0 0| 15,226 4,902
2~ A 71,241 37,648 16,997 16,596
S S 4,744\ Y = FH| X 12.6% = 4,744
J|et ZH| 4,692|(M2H| + =FH[) X 7.9% = 4,692
STl 4,841 |(MZH| + =FH| + HH|) X 6% = 4,841
A 2 M| O|(MEH| + & + AEZH|) X 0% = 0
ol z 10,278 |('c | + ZH| + dHbrta|d]) X 15% = 10,278
A 95,795
EIL7ERIM| 9,579
&t A 105,374 = 105,370

26




M2y = = oy L 2 Moo= oH| g Bl
= o el % H|
x5 = Z « =l = A = = o = = A
4-3. EZ otAZTZHH I & 57) imY
OfAHE ZEHC 71A 2.000| mw 2,133 4,266 | 1,454 2,908 644 1,288 35 70 |¥53
OfAZE ZFIN 7| 71 0.105| m* | 13,513 1,417 | 9,293 975 | 1,403 147 | 2,817 295 (952
B I} 7| °12420%,7| #|(0.2m)80% 0.630| m’ 9,167 5,773 | 8,303 5,230 295 185 569 358 |¥sT
= e = oS 212410%,7|7(0.2m)90% 0.510| m 9,569 4,879 8,559 4,365 449 228 561 286 |¥=3
ZE =T ofaZ 0.700| m° | 30,096 21,066 | 25,509 17,856 | 2,090 1,463 | 2,497 1,747 |952
oA = #78(EE8) 0.083| m | 57,000 4,731 0 0| 57,000 4,731 0 0|gs2
glo|Z 25-21-08 0.140| m | 79,000 11,060 0 0| 79,000 11,060 0 0|gs2
BEx7E 40mmol 5 0.140| m° | 15,000 2,100 0 0| 15,000 2,100 0 0|gs2
H7|Exz2/d| Hofaz 0.247| m | 25,000 6,175 0 0 0 0 | 25,000 6,175 |42
H 7|28 HE 158 0.247| m° | 15,226 3,760 0 0 0 0| 15,226 3,760 |¥52
2~ A 65,227 31,334 21,202 12,691
2V e 2| 3,948 | AT - FH| X 12.6% = 3,948
J|E} ZAH| 4,462 (M 2H| + =FH|) X 7.9% = 4,462
o gkata|] 4.418|(MBH| + =RH| + HH[) X 6% = 4,418
s 2 M| O|(MMZH| + & + MEZH|) X 0% = 0
ol z 8,528 (- RH| + AH| + Lkmta|d]) X 15% = 8,528
Al 86,584
SR Al 8,658
&t AH| 95,241 = 95,240

27



M2y = = oy L 2 Moo= oH| g Bl
E o Hl 2
X | It o =l = A = = o = = A
4-4. EZ SHFH(EHID] & 57) 1mE
LHENAEE HA 0.700| mw’ 1,341 938 | 1,341 938 0 0 |gs3
B o} 7| 212{20%,7|7(0.2m')80% 0.672| m 9,167 6,159 | 8,303 5,579 295 198 569 382|453
=\ 27| Yok o12410%, 7| 7(0.2m)90% 0.630| m’ 9,569 6,027 | 8,559 5,392 449 282 561 353 (s
AFHDUSE ZEEF t=8cm 0.700| m° | 18,913 13,238 | 4,588 3,211 | 13,643 9,550 682 477 |45
ES | 26,362 15,120 10,030 1,212
7y e 2| 1,905\ &A™ - PH| X 12.6% = 1,905
7|El ZH| 2,137|(RM =8| + = FH|) X 7.9% = 2,137
erata|d| 1,824 (M 2| + 4| + ZH|) X 6% = 1,824
i RS ] O|(MZH| + &= + MEZH|) X 0% = 0
ol s 3,330((‘=FH| + | + LPA2|H]) X 15% = 3,330
Al 35,559
B4 M| 3,556
&t AH| 39,114 = 39,110

28
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((0.70 + 0.50) = 2.0) X 1.2 X 1.0

((0.70 + 0.50) = 2.0) X 1.2 X 1.0
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0.70
o] 2(25-21-8)
0.2
1.2
1.0
0.5
0. SEMBA
= = Mg =2 Z A = 2 ck 2|
S ((0.70 + 0.50) = 2.0) X 1.0 X 1.0 = 0.600 -
g o < 7| ((0.70 + 0.50) =+ 2.0) X 1.0 X 1.0 = 0.600 -
=32 oy 0.20 X 0.70 X 1.0 = 0.140 -
=3z ™ot 1.000 + 1.000 = 2.000 m
=38 28 0.70 X 0.20 X 1.0 = 0.140 -
HII2(232E) 0.20 x 0.70 x 1.0 x 2.3 = 0.322 ton
elal 2 020 X 0.70 X 1.0 = 0.140 :
(25-21-8) ' ' e ' m
2EEY .
= m
(5 100-100) 0.70 x 1.0 x 0.9 0.63




TAD =
ESTELMEAN
3. ofA &= EZ &7t
0. EFCiHE
| 0.70 | OIAZ(EZ #76)
| 1
0.05] A
0.1] ] OlAZ(7|Z #467)
] _
0.2] H X7\ (MA140mm0| 5
1.2
0.85
0.5
0. FFLEN
= = 4 5 2 7 >3 | el
B ot 7 ((0.700 + 0.50) = 2.0) x 1.05 x 1.0 = 0.630 m
= o 7] ((0.700 + 0.50) + 2.0) X 0.85 X 1.0 0.510 m’
ofAZ mAY 0.15 X 0.70 X 1.0 = 0.105 m
OfAZ At 1.000 + 1.000 = 2.000 m
ofAZ Z A 0.70 X 1.000 = 0.700 m
2 x 7 =
_ 07X 02 X 1.0 = 0.140 .
(M A 25mmolst) "
OlAZ (EZ #78) 0.05 X 0.70 X 1.0 = 0.035 m
OFAZ (7| = #467) 0.10 X 0.70 X 1.0 = 0.070 m
OIAZ (EZ #78) 0.035 X 2.35 = 0.082 ton
OFAZ (7| = #467) 0.07 X 2.35 = 0.164 ton




0.70
0.08 BT S
0.07 ~ 2 g
1.05
05
B

S A EF2 2 A =2 |Eh
[{(0.70 + 0.50) - 2.0} x 1.12]+
(0.07 X 0.70) X 1.0 = 0.679
((0.70 + 0.50) = 2.0) X 1.05 X 1.0 = 0.630
A 0.70 X 1.000 = 0.700
A X| 0.70 X 1.000 = 0.700

0.07 X 0.70 X 1.0 = 0.049




g A L2l puK=A:! | Bl

s = E g9 7 = > Eel in}
¢ I3 9| ® J|=a 9 = I3 A4 e I = o
A1z HE (232 E Zas B=0.7m m 68,502 37,650 14,253 16,599
232E TR 212 2 m 2,990\ 5,980.| 2,241| 4,482, 709| 1,418, 40 80.
232lEZEIN BS0.2m 0.14 m 52,432| 7,340.3| 37,106/ 5,194.8| 4,879 683.| 10,447| 1,462.5
BHIDI(24) B S (0.2m )80%+01 & 20% 0.6 m 9,167| 5,500.2| 8,303| 4,981.8 295 177. 569 341.4
SIHSINLCHE (M) BHS (0.2m )90%+01 2 10% 0.6 m 9,569| 5,741.4| 8,559 5,135.4 449  269.4 561 336.6
TN SR8, AR2) 232|E 0.7 m 29,849| 20,894.3| 25,509| 17,856.3| 1,843 1,290.1| 2,497 1,747.9
A0I2(CHE)-AS 25-21-08 0.14 m 59,400 8,316. 0.| 59,400/ 8,316. 0.
XIS (MXE-5F) ®40mmoO| &t 0.14 m 15,000/  2,100. 0.| 15,000/ 2,100. 0.
HOI2X2lH| H232E 0.322|  Ton 24,000\ 7,728. 0. 0.] 24,000 7,728.
HIIS 208 (M X ZE) 30kmOI &, H T 15E 0.322|  Ton 15,226| 4,902.7 0. 0.| 15,226| 4,902.7
0 0 0
H2sHE (OtAZE ZES3 B=0.7m m 62,488 31,335 18,460 12,693
OtAZE TEAMG I 2 m 2,133| 4,266.| 1,454| 2,908. 644| 1,288. 35 70.
OFAZEZ AN BS0.2m 0.105 m 13,513 1,418.7| 9,293  975.7| 1,403 147.3| 2,817 295.7
EHII(24) B S (0.2m )80%+21 24 20% 0.63 m 9,167| 5,775.| 8,303| 5,230.8 295 185.8 569 358.4
SIHSILCHE (M) B4 S (0.2m )90%+21 24 10% 0.51 m 9,569| 4,880.| 8,559 4,365. 449|  228.9 561 286.1
oI =230, 272) OIAZ(EES) 0.7 m’ 30,096| 21,067.2| 25,509| 17,856.3| 2,090 1,463.| 2,497| 1,747.9
OlAZ(AIZ), 25 #H8(EZE) 0.083 Ton 57,000/ 4,731. 0.| 57,000/ 4,731. 0.
AOIZ(HE)-AS 25-21-08 0.14 m 59,400 8,316. 0.| 59,400/ 8,316. 0.
XIS (MXNE-SF) ®40mmoO| & 0.14 m 15,000/  2,100. 0.| 15,000/ 2,100. 0.




=T

HII=Xclbl HOtAE 0.247 Ton 25,000| 6,175. 0. 0.| 25,000 6,175.

HOI2 8| (A XHEE) 30kmOlot, S XL 15& 0.247 Ton 15,226| 3,760.8 0. 0.| 15,226| 3,760.8

0 0 0

H3ZH HZE S2(EA) B=0.7m m 13,488 12,140 535 813
HIDI(E=) 81 S (0.2m )80%+ 2! 21 20% 0.72 m 9,167 6,600.1| 8,303 5,978.1 295 212.4 569 409.6
CIHRILCHE (M) 81 S (0.2m )90%+ 2! 24 10% 0.72 m 9,569| 6,889.5| 8,559| 6,162.4 449 323.2 561 403.9

0 0 0

H4sSH AEDAEF 8H & =32 B=0.7m m 12,187 10,971 481 735
A2ENYES EN 0.7 m 0 0. 0 0. 0 0. 0 0.
HIDI(E=) 81 S (0.2m )80%+ 2! 21 20% 0.672 m 9,167 6,160.1| 8,303| 5,579.6 295 198.2 569 382.3
CHIILCHE(E) B85S (0.2m )90%+21 2 10% 0.63 m 9,569| 6,028.3| 8,559| 5,392.1 449 282.8 561 353.4
AENLES ZEEF t=8cm 0.7 m 0 0. 0 0. 0 0. 0 0.

0 0 0

H58HE AEDNAESF EH m 1,341 1,341 0 0
SgeR EXZ2 50% 0.0033 el 162,019 501.6| 152,019 501.6 0. 0.
2SR EXZ2 50% 0.0067 el 125,427 840.3| 125,427 840.3 0. 0.

0 0 0

HesSH ABINAES ZTESP t=8cm m 18,913 4,588 13,643 682
AENYEE Usl T=8cm, =AM 1.08 m 10,000| 10,800. 0.] 10,000 10,800. 0.

2o [Soxacs 0.07 m 35,000| 2,450. 0.] 35,000 2,450. 0.

2 ol £ 0.0067 el 125,427 840.3| 125,427 840.3 0. 0.
Egor 0.0133 ol 162,019 2,021.8] 152,019 2,021.8 0. 0.




olo

ICH 7t

=T

ZdI0IE 3HY .0267 hr 27,661 738.4| 25,683 685.7| 1,432 38.2
SAI(REAE) .0267 hr 72,166| 1,926.7| 38,972| 1,040.5| 13,315 355.5
N7z 3 % 4,588 137.6 0. 0.

0 0

@ 2PH(MEH ZE) m 1,721 371 1,350

i 2 B(=%) .0012 ol 173,600 208.3| 173,600 208.3 0.
2R .0013 ol 125,427 163. | 125,427 163. 0.
SEI0IZ (MP) 1 M 1,350| 1,350. 0 1,350| 1,350.

0 0

H & 24(MZH Z8) m 2,853 413 2,440
i 2t S(+=%) .0013 el 173,600 225.6| 173,600 225.6 0.

2 528 .0015 el 125,427 188.1| 125,427 188.1 0.
SEI0IZ (MP) 1 M 2,440 2,440. 0 2,440 2,440.

0 0

E 22 24(MEH Z8) m 4,178 588 3,590
i 2t S(+=%) .0018 el 173,600 312.4| 173,600 312.4 0.

2 52 & .0022 el 125,427 275.9| 125,427 275.9 0.
SEI0IZ (MP) 1 M 3,590 3,590. 0 3,590 3,590.

0 0

|2 24(HEH Z28) m 3,424 984 2,440
i 2 S(+=%) 0.003 el 173,600 520.8| 173,600 520.8 0.
28 a8 0.0037 ol 125,427 464.| 125,427 464. 0.




2ot

PE &t (=2 8) D40mm 1 M 2,440 2,440. 0.] 2,440 2,440.

0 0

HNsE BE584X D=15mm b/ E 44,255 44,255 0
i 2 B(=%) 0.148 ol 173,600| 25,692.8| 173,600| 25,692.8 0.
23R 0.148 ol 125,427| 18,563.1| 125,427| 18,563.1 0.

0 0

Hi12sHE | AIILX D=15mm ) E 28,108 28,108 0
i 2 B(=%) 0.094 ol 173,600| 16,318.4| 173,600| 16,318.4 0.
2R 0.094 ol 125,427| 11,790.1] 125,427| 11,790.1 0.

0 0

H13SE | AIILX D=20mm ) 33,790 33,790 0
i 2t S(+=%) 0.113 el 173,600| 19,616.8| 173,600| 19,616.8 0.

28 a8 0.113 el 125,427| 14,173.2| 125,427| 14,173.2 0.

0 0

H14SE | AZIILX D=25mm ) 33,790 33,790 0
i 2t S(+=%) 0.113 el 173,600| 19,616.8| 173,600| 19,616.8 0.

28 a8 0.113 el 125,427| 14,173.2| 125,427| 14,173.2 0.

0 0

H158E | A=IILX D=30mm A 33,790 33,790 0
i 2 S(+=%) 0.113 el 173,600| 19,616.8| 173,600| 19,616.8 0.

28 a8 0.113 el 125,427| 14,173.2| 125,427| 14,173.2 0.

0 0




olo

ICH 7t

=T

H16s E D=40mm b/ E 42,760 42,760
143 ol 173,600| 24,824.8| 173,600| 24,824.8

143 ol 125,427| 17,936.| 125,427 17,936.

0

H17sE D=50mm ) E 42,760 42,760
143 ol 173,600| 24,824.8| 173,600| 24,824.8

143 ol 125,427| 17,936.| 125,427 17,936.

0

H18s HE D=20mm ) E 56,217 56,217
.188 ol 173,600| 32,636.8| 173,600| 32,636.8

.188 el 125,427 23,580.2| 125,427| 23,580.2

0

H19s & D=25mm b/ E 56,217 56,217
.188 el 173,600| 32,636.8| 173,600| 32,636.8

.188 el 125,427 23,580.2| 125,427| 23,580.2

0

H20s & D=40mm ) 75,653 75,653
.253 el 173,600| 43,920.8| 173,600| 43,920.8

.253 el 125,427| 31,733.| 125,427 31,733.

0

H218E D=30mm b/ E 56,217 56,217
.188 ol 173,600| 32,636.8| 173,600| 32,636.8




olo

ICH 7t

=T

28 a8 0.188 ol 125,427| 23,580.2| 125,427| 23,580.2 0. 0.

0 0 0

H222s 8 2SS4 D=50mm b/ E 75,653 75,653 0 0
i 2 B(=%) 0.253 ol 173,600| 43,920.8| 173,600| 43,920.8 0. 0.
23R 0.253 ol 125,427| 31,733.| 125,427 31,733. 0. 0.

0 0 0

H23S H |PVCEIE 2| D40 15mm A 37,462 0 37,462 0
MEZ0I2+8 (2,5 ,PE) D40 x 15 1 ES 36,100| 36,100. 0.] 36,100 36,100. 0.

STS 012 (LIAFAL) 20 x 15mm N 4,200 0 4,200 0. 0.

MpeEE A3 ® 16mm 1 H 1,362| 1,362. 0 1,362| 1,362. 0.
fH=d8320I D40*13~20mm 1 H A 0 0. 0 0. 0 0. 0 0.

0 0 0

H24sE |RH+=d3ED| D40+ 13~20mm b/ E 46,042 44,272 0 1,770
i 2t S(+=%) 0.19 el 173,600 32,984.| 173,600 32,984. 0. 0.
2822 0.09 el 125,427| 11,288.4| 125,427| 11,288.4 0. 0.
SPEZLITHIOIAZL) (=2 4 % 44.,272) 1,770.8 0. 0.| 44,272 1,770.8

0 0 0

H25S H [UAIE A 0lS& FFE ® 15mm b/ E 11,670 11,670 0 0
i 2 S(+=%) 0.06 el 173,600 10,416.| 173,600 10,416. 0. 0.

2828 0.01 el 125,427 1,254.2| 125,427| 1,254.2 0. 0.

0 0 0

H26S 2 [LLAFE= Al 0|32 HE ®20mm b/ E 12,924 12,924 0 0




277t

i 2 (=) 0.06 ol 173,600 10,416.| 173,600 10,416.

2808 0.02 ol 125,427 2,508.5| 125,427| 2,508.5

0

H27SE [UAIEZA olS& FF ®25mm A 18,132 18,132
i 2 B(=%) 0.09 ol 173,600 15,624.| 173,600 15,624.

2808 0.02 ol 125,427 2,508.5| 125,427| 2,508.5

0

H28S H [LALE= A olS& FFE ® 40mm A 22,858 22,858
i 2 B(=%) 0.11 ol 173,600 19,096.| 173,600 19,096.

2808 0.03 ol 125,427| 3,762.8| 125,427| 3,762.8

0

H29sH = HE & 16mm A3 A ) 11,188 11,188
i 2t S(+=%) 0.05 el 173,600| 8,680.| 173,600| 8,680.

2SR 0.02 el 125,427 2,508.5| 125,427| 2,508.5

0

H30SH = HE ®20mm A3 A b/ E 12,924 12,924
i 2t S(+=%) 0.06 el 173,600 10,416.| 173,600 10,416.

2SR 0.02 el 125,427 2,508.5| 125,427| 2,508.5

0

MBS H | ZdAHE ®25mm A3 A A 17,650 17,650
i 2 S(+=%) 0.08 el 173,600 13,888.| 173,600 13,888.

2828 0.03 ol 125,427| 3,762.8| 125,427| 3,762.8




olo

ICH 7t

=T
0
A3 A A 22,377 22,377
ol 173,600 17,360.| 173,600 17,360.
ol 125,427| 5,017.] 125,427| 5,017.




=

B 2019¢ 018 JI=
ZIdCES 198,242

2 2SS (=% 173,600
3 e = 176,515
4 o = 145,489
5 = = 152,019
6 2 = = 125,427
7 =Rl At 123,282




At M ct b
=g 7T 2 ALEI | SHEE | RSSIHVATHE| Mgt | & & £ A
m’ 25-21-80 79,000 79,000 |2 2202
Ton #78(H&&) 57,000 57,000
#467(0158) 50,000 50,000
m|#6 100%100 4,680 46808z
) 1,194 1,194 1,194 | DADHEIMEE)
) 1,070 1,070 1,070 DAIDHEIMEE)
m*|T=0.03mm % 90cm % 91m 175 175 175 \ree 20132 (22626)
m | 2etdl X & (25mmOl 5t ) 17,500 17,500 jwrz= grne(saue)
m | 22Hd| Z & (40mm) 15,000 15,000z s axis(seae)
m | 2B L& 35,000 35,000 |wres axi=(o+a2)
ton |2l ,VATE & 25,000 25,000 VAT, 28tHl g =
ton |2EHH| ,VATE & 24,000 24,000 VAT, 2882t &
ea 50 x 15mm 37,100 37,100 37,100 37,100
ea 020mm=*15 4,200 4,200 4,200 4,200
ea D15mm 1,362 1,362 1,362 1,362
ea D15mm 2,060 2,060 2,060 2,060
ea 50 x 20mm 48,500 48,500 48,500 48,500
ea 025mm*20 4,540 4,540 4,540 4,540
ea 020mm 2,350 2,350 2,350 2,350
ea 020mm 3,540 3,540 3,540 3,540
ea 75 % 25mm 65,600 65,600 65,600 65,600
ea 032mm*25 6,190 6,190 6,190 6,190
ea 025mm 3,770 3,770 3,770 3,770
ea 025mm 5,358 5,358 5,358 5,358
ea 75> 32mm 78,900 78,900 78,900 78,900
ea D40mm=32mm 9,640 9,640 9,640 9,640
ea D32mm 6,660 6,660 6,660 6,660
ea 032mm 12,669 12,669 12,669 12,669
ea 75 % 40mm 122,600 122,600 | 122,600 122,600
ea 50 x 40mm 13,710 13,710 13,710 13,710
ea 040mm 24,220 24,220 24,220 24,220
EAF ea D40mm 6,550 6,550 6,550 6,550
M = ea 100 x 50mm 165,300 165,300 | 165,300 165,300
=THHEAEARUS2 | ea D50mm 21,850 21,850 21,850 21,850
S 0IED ea | D13mm(100tHE) 43,400 43,400 43,400
=S 0182 ea | D20mm(100HHE) 49,200 49,200 49,200




At N b

A = 7T = XYED} SSEIHVATHE| M3y | & £ A
=5 ea 025mm( 10081 & ) 72,900 72,900 72,900
=5 ea | D32mm(100HHE) 96,900 96,900 96,900
=5 ea 040mm( 10081 & ) 147,900 147,900 147,900
=5 ea | D50mm(100bH &) 188,900 188,900 188,900
Aeles Z8)| ea D13 x 800mm 55,500 55,500 55,500
HSIIESS(SFAUEE)| ea 020 x 800mm 81,800 81,800 81,800
ANBINESES(CZHEE)| ea 025 x 800mm 93,300 93,300 93,300
HSIIESS(SFAUEE)| ea D32 x 800mm 127,900 127,900 127,900
HNIESS(CYESE)| ea 040 x 800mm 193,100 193,100 193,100
I2SS(SZ28)| ea D50 x 800mm 224,900 224,900 224,900
=50l 2 m HIEtZ D15mm 1,350 1,350
sgnolz m HIEtZ D20mm 2,440 2,440
=250l 2 m HIEtZ D25mm 3,590 3,590
sgnolz m HIEtZ D32mm 6,140 6,140
m* 223 x112.5x 60 7,800 7,800




